

Public Works Department

Alfredo Quintero Jr., EI, CFM, CGC, CCC
Public Works Director
ISA Certified Arborist

MEMORANDUM

Date: December 3, 2018

To: Rafael Casals, Town Manager, ICMA-CM, CFM

From: Alfredo Quintero, Public Works Director

Reference: Piggy-Back Contract – RFP No. 2013-32

City of Doral Catch Basin Maintenance Program

On May 21, 2014, via Resolution No. 14-36, the Town of Cutler Bay (the "Town") adopted the Contract for the Town-Wide Catch Basin Maintenance Program with EnviroWaste Services Group, Inc. (the "Contractor"). The Town piggy-backed the Contract utilizing the City of Doral's Request for Proposal (RFP) No. 2013-32 Catch Basin Maintenance Program. The Town's Contract with EnviroWaste Services Group, Inc. expired on June 24, 2016; therefore, the Town utilized the option to renew the contract for the additional two (2) one-year periods under the same terms, conditions, and prices of the original contract approved by the City of Doral (via Resolution 14-33).

The City of Doral adopted Resolution No. 18-30 which granted a six (6) month extension period, expiring September 30, 2018, in order to perform an Engineering Value Analysis and be able to determine if extending the current contract for a longer period will be in the best interest of the City of Doral. Based on the Engineering Value Analysis conducted by the City of Doral's Public Works Department, the City Manager recommended the waiver of the competitive bid as it is in the City of Doral's best interest. On September 12, 2018, via Resolution No. 18-156, the City of Doral Council authorized the City Manager to extend RFP No. 2013-32, under the same terms, costs and conditions, for two (2) years with the option to renew for an additional two (2) one-year terms.

Town Staff has identified two (2) existing Municipal Storm Drain Cleaning contracts.

Municipality:

City of Doral (RFP No. 2013-32) Village of Pinecro

Village of Pinecrest (RFP No. 08-15-14347)



10720 Caribbean Boulevard, Suite 105 • Cutler Bay, FL 33189 • 305-234-4262 • www.cutlerbay-fl.gov





In order to properly evaluate the best and most economic option, the Town's Public Works Department performed an Engineering Value Analysis spreadsheet (Exhibit "I") based on the Town's most current Storm Drain Inventory, comparing the prices for the City of Doral (Exhibit "II"), and the Village of Pinecrest (Exhibit "III").

The total Town-Wide Storm Drain Cleaning price, utilizing each of the municipality's contract prices, is ranked as follows:

Municipality:

Total Storm Drain Cleaning Price (Town-Wide):

City of Doral (RFP No. 2013-32) \$ 459,472.00 Village of Pinecrest (RFP No. 08-15-14347) \$ 726,572.41

It is the Public Works Department recommendation to piggy-back the current City of Doral Contract.



Exhibit "l"

Engineering Value Analysis

Type of Structure	Quantity	Doral Contract Price		Pinecrest Contract Price	
Catch Basin	1099	\$195.00	\$214,305.00	\$0.01	\$10.99
Outfall	117	\$195.00	\$22,815.00	\$0.01	\$1.17
Linear Feet of Pipe	172,874	\$0.50	\$86,437.00	\$4.19	\$724,342.06
Slab Covered Trench	529	\$195.00	\$103,155.00	\$4.19	\$2,216.51
Manhole	168	\$195.00	\$32,760.00	\$0.01	\$1.68
		<u>Total</u>	\$459,472.00	<u>Total</u>	\$726,572.41

Exhibit "II"

Storm Drain Price Sheet for City of Doral (RFP No. 2013-32)

; [k:	_				
1	Cleaning of Catch Basin	2,060	EA	195,00	401,700-
2	Cleaning of Manhole	525	EA	1950	103375-
3	Cleaning of Slab-Covered-Trench Box	71	EA	195,00	13845-
4	Cleaning of Outfail Structure	84	EA	195.00	16380-
5	Cleaning of Pipe	274,000	LF	,50	137,000-
6	Emergency Vac-Truck (includes operator)	160	HR	155,00	24,800-

	\$1000
PROPOSAL TOTAL	1696,100-

- 6. Proposer agrees that the work will be completed as scheduled from the date stipulated in the Notice to Proceed.
- 7. Communications concerning this Proposal shall be addressed to:

Proposer:	EnviroWaste Services Group, Inc.
Address:	4 SE 1st Street, Second Floor
	Miami, FL 33131
Telephone	(305) 637-9665
Facsimile Number	(305) 637-9659
Attention:	Eduardo Barba, President

Exhibit "III"

Storm Drain Price Sheet for Village of Pinecrest (RFP No. 08-15-14347)



VILLAGE OF PINECREST Request for Proposals

Storm Drainage System Cleaning Services Project No. 2013-012 Bid Form

Description	Amount	Unit
Cleaning of Catch Basins (approximately 800)	\$.01	each
Cleaning of French Drains	8.01	each
Cleaning of Fipes	\$14.19	per linear foot
Cleaning of Outfalls (approximately 40)	#.01	each
Root Cutting	\$ 135.00	hourly
Other:	- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	

